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Kharkov University Bulletin. 2003. 596. Chemical Series. Issue 10(33). E.A.Stezeryanskii, 
V.S.Kublanovsky. Reduction of hydrogen ions at a platinum electrode under concentration 
and activation polarization. 

The reaction of hydrogen ion reduction from non-buffer solutions at a smooth platinum electrode has 
been investigated by the methods of polarization curves and numerical calculations. An equation relat-
ing limiting current to hydrogen ion concentration has been derived. The H3O+ ion reduction under 
concentration and activation polarization proceeds in a limited pH range 2 to 4. In more acidic solu-
tions ( < 2) the limiting current of H3O+ reduction is not reached owing to a significant mass transfer 
intensification, caused by gas evolution. The ions H3O+ are spent in molecular oxygen reduction in 
electrolytes with >4. The electrochemical desorption retards the electrode stage.     


